

## HIMACHAL PRADESH PUBLIC WORKS DEPARTMENT

Office of the Executive Engineer National Highway Division HPPWD Theog. Email: eenh-theog-hp@gov.in Phone/ Fax No.:- 01783-238900 Dated: - 26-11- 2025 NO.PW.THD/CB/TENDER/Tender Notice/2025 -58 56-59 To

> The Executive Engineer,(IT) Nigam Vihar Shimla 2

Subject:-

Publication of tender Notice.

Enclose please find herewith the Tender Notice of the works as given in the Notice inviting Tender for uploading on department website as per Notification Pr. Secy. (PW)) to the Govt. of HP letter No PBW(B)A(3)1/2024 dated 03.01.2024 as the work mentioned in the tender notice are urgent in nature and in public interest.

Encl:- Schedule of Quantity.

Executive Engineer, NH Division,

H.P.P.W.D.,

Copy forwarded to the Superintending Engineer NH Circle Shimla

HP PWD for information please.

Copy forwarded to the Computer Cell O/O Executive Engineer(IT)

Cell), Nigam Vihar Shimla-2 for information and further necessary action please.

## Himachal Pradesh Public Works Department Notice Inviting Tender

Scaled Percent rates tender form No 7 &8 are hereby invited by the Pradesh from the eligible contractors enlisted in HP PWD so as to reach in this office as per time schedule Given

Date of receipt of Applications for tender forms:
Date of issue/sale of Tender forms:
Date of receipt of Tender:
Date of opening of Tender:
O5.12.2025 upto 12:00 PM
O5.12.2025 upto 4:00 PM
O6.12.2025 upto 10:30 AM
O6.12.2025 upto 11:00 AM

Sr.	Job	Name of Works	06.1	2.2025 upto		
No	No.	ivalle of works	Estimated	Earnest	Cost of form	Time Period for completion
1	1	Name of Work: - Maintenance of NH-22 (New NH 05) from Km 13/00 to 24/250 and 153/180 to 156/507 On Kalka-Shimla Wangtoo road (SH: - Cutting of Grass and bushes, Prov.& applying White washing, Clearance of chowked drains, Finishing with Epoxy paint between rd 13/00 to 14/000)	98655	2000	350/-	3 Months
2	2	Name of Work: - Maintenance of NH-22 (New NH 05) from Km 13/00 to 24/250 and 153/180 to 156/507 On Kalka-Shimla Wangtoo road (SH: - Cutting of Grass and bushes, Prov.& applying White washing, Clearance of chowked drains, Finishing with Epoxy paint between rd 14/00 to 15/000)	98655	2000	350/-	3 Months
3	3	Name of Work: - Maintenance of NH-22 (New NH 05) from Km 13/00 to 24/250 and 153/180 to 156/507 On Kalka-Shimla Wangtoo road (SH: - Cutting of Grass and bushes, Prov.& applying White washing, Clearance of chowked drains, Finishing with Epoxy paint between rd 18/800 to 19/800)	98655	2000	350/-	3 Months
4	4	Name of Work: - Maintenance of NH-22 (New NH 05) from Km 13/00 to 24/250 and 153/180 to 156/507 On Kalka-Shimla Wangtoo road (SH:- Cutting of Grass and bushes, Prov.& applying White washing, Clearance of chowked drains, Finishing with Epoxy paint between rd 21/00 to 22/000)	98655	2000	350/-	3 Months
5	5	Name of Work: - Maintenance of NH-22 (New NH 05) from Km 13/00 to 24/250 and 153/180 to 156/507 On Kalka-Shimla Wangtoo road (SH: Cutting of Grass and bushes, Prov.& applying White washing, Clearance of chowked drains, Finishing with Epoxy paint between rd 22/00 to 23/000)	98655	2000	350/-	3 Months
6	6	Name of Work: - Maintenance of NH-22 (New NH 05) from Km 13/00 to 24/250 and 153/180 to 156/507 On Kalka-Shimla Wangtoo road (SH:- Cutting of Grass and bushes, Prov.& applying White washing, Clearance of chowked drains, Finishing with Epoxy paint between rd 23/00 to 24/000)	98655	2000	350/-	3 Months

_			Mariana as as NIL 22	98655	2000	250/	
	7	7	Name of Work :- Maintenance of NH-22 (New NH 05) from Km 13/00 to 24/250 and 153/180 to 156/507 On Kalka-Shimla	76000	2000	350/-	3 Months
			Wangtoo road (SH:- Cutting of Grass and				
			bushes, Prov.& applying White washing, Clearance of chowked drains, Finishing		=		
			with Epoxy paint between rd 153/180 to 154/180)				
1	8 8	1	Name of Work: - Maintenance of NH-22 (New NH 05) from Km 13/00 to 24/250 and 153/180 to 156/507 On Kalka-Shimla	98655	2000	350/-	3 Months
			Wangtoo road (SH:- Cutting of Grass and bushes, Prov.& applying White washing, Clearance of chowked drains, Finishing				
			with Epoxy paint between rd 154/180 to 155/180)				
9	9		Name of Work: - Maintenance of Shimla Bye pass Nh-05 rd 13/00 to 24/250. (SH:-	98733	2000	350/-	3 Months
			Cutting of Grass and bushes, Clearance of chowked drains between rd 17/00 to 18/000				
			Name of Work :- Maintenance of Shimla	98733	2000	350/-	3 Months
			Bye pass Nh-05 rd 13/00 to 24/250. (SH:- Cutting of Grass and bushes, Clearance of				,
10		10	chowked drains between rd 20/00 to 21/00 )				
			Name of work:- Maintenance on Kalka Shimla Wangtoo Road K.M. 153/180 to	96992	2000	350/-	3 Months
		ا ي	236/000.(SH:- Removal of slips/land Slide				
11	+-3	11	between R.D. 16/000 to 19/000  Name of work:- Maintenance on Kalka	96992	2000	350/-	3 Months
			Shimla Wangtoo Road K.M. 153/180 to	70774	2000	330/-	2 Minimiz
12	1	2	236/000.(SH:- Removal of slips/land Slide between R.D. 19/000 to 24/250)				
	-	-	Name of Work :- Maintenance of Theog		2000	350/-	3 Months
			Kotkhai hatkoti Road K.M. 0/000 to				
			69/000. (SH:- Cutting of Grass and bushes, Prov.& applying White washing, Clearance				
			of chowked drains between R.D.0/00 to				
13	13		0/800)	98358.00	2000	350/-	3 Months
			Name of Work :- Maintenance of Theog Kotkhai hatkoti Road K.M. 0/000 to	ı	2000	330/-	5 ivionuis
		10	69/000. (SH:- Cutting of Grass and bushes,				
		1	Prov. & applying White washing, Clearance of chowked drains between R.D. 0/800 to				
4	14	1	1/600)	98358.00			
+		I	Name of Work :- Maintenance of Theog		2000	350/-	3 Months
		K	Cotkhai hatkoti Road K.M. 0/000 to				
		6	9/000. (SH:- Cutting of Grass and bushes, rov.& applying White washing, Clearance				
		o	f chowked drains between R.D. 18/000 TO				
	15	1	8/800 )	98358.00	4.5.5.	2701	224
			ame of Work: - Maintenance of Theog		2000	350/-	3 Months
			otkhai hatkoti Road K.M. 0/000 to 0/000. (SH:- Cutting of Grass and bushes,				
		Pr	ov.& applying White washing, Clearance				
		of	chowked drains between R.D. 18/800 TO	00050.00			
	16	19	0/600)	98358.00	2000	350/-	3 Months
		Na	nme of Work :- Maintenance of Theogotkhai hatkoti Road K.M. 0/000 to		2000	330/-	5 1120
			/000. (SH:- Cutting of Grass and bushes,				
		Pro	ov.& applying White washing, Clearance				
		of	chowked drains between R.D. 19/600 TO	98358.00			
			(800)	1 00750 NA	1	1	1

/							
	1	1	Name of Wort				
			Name of Work: Maintenance of Theog Kotkhai hatkoti Road K.M. 0/000 to 69/000, (SH: Cuttion of C		2000	350/-	3 Months
	1		Prov. & applying Wall Grass and bushes.				
	18	18	of chowked dealers to trasting, Clearance				
			22/500) Name of Works and Service R.D. 21/000 TC	98358.00		2, 2	
			Name of Work: Maintenance of Theog Kotkhai hatkoti Road K.M. 0/000 to		2000	350/-	3 Months
			69/000. (SH:- Cutting of Grass and bushes, Prov.& applying White work)				
	19		of chowked drains have washing. Clearance				
1	19	19	23/600 ) Getween R.D. 22/500 TO	)			
			Name of Work :- Maintenance of Theog	98358.00	2000	2801	
	on any other		69/000, (SH:- Cutting of C		2000	350/-	3 Months
			Prov. applying White washing, Clearance of chowked drains between P. R.				
	20	20	of chowked drains between R.D. 40/000 TO				
				98358.00			
			Name of Work: - Maintenance of Theog Kotkhai hatkoti Road K.M. 0/000 to		2000	350/-	3 Months
					*		viidis
			Prov.& applying White washing, Clearance of chowked drains, between B. Clearance				
2	21	21	44/000) detween R.D. 42/000 TO				
			Name of Work : Mointen	98358.00	1.		
					2000	350/-	3 Months
	1				2 L	- 1	
7-		20 0	Prov. & applying White washing, Clearance of chowked drains between R.D. 44/00 to		2.		
22	-					7	
	1	N	lame of Work :- Maintenance of Theog	98358.00	2005	-	
19					2000	350/-	3 Months
			9/000. (SH:- Cutting of Grass and bushes, rov.& applying White washing, Clearance chowked drains, between PB,			* 0	
23	1.					2	, 1
	1		, , ,	98358.00			
		IN K	ame of Work :- Maintenance of Theog	70338.00	2000	-	*
	2.0	1	otkhai hatkoti Road K.M. 0/000 to //000. (SH:- Cutting of Grass and bushes,		2000	350/-	3 Months
						h*	
24		-	between R D 16/100 TO				
-4	24		000)	09250.00			
		Nai	ne of Work :- Maintenance of Theog	98358.00	2005		
		1701	Midi lidikoti Road K M 0/000 4		2000	350/-	3 Months
		Pro	000. (SH:- Cutting of Grass and bushes,				
		010	v.& applying White washing, Clearance howked drains between R.D. 48/000 TO				, ,
5	25	17/3	00 )				
		Nam	e of Work :- Maintenance of The	98358.00			
		LLOU	Halliatkoti Koad K M 0/000 4-		2000	350/-	3 Months
		09/0	00. (SH:- Cutting of Grace and hand				J Months
		- 101	• applying white waching of				
	26	51/00	Owked drains between P D 40/500 To				
+		131/00	,	98358.00			
		Kotk	e of Work: - Maintenance of Theog hai hatkoti Road K.M. 0/000 to		2000	350/-	3 Months
		69/00	00. (SH:- Cutting of Grass and bushes,			200/-	Janonuis
		1100	applying White washing Clearance				1
,	מיר כ	OI CII	owked drains between R.D. 51/000 TO				[
+	27	33/00	JU )	98358.00			
		Kotk	e of Work: - Maintenance of Theog hai hatkoti Road K.M. 0/000 to		2000	350/-	3 Months
8		69/0	00. (SH:- Cutting of Grass and bushes.			1	
	28	Dans	.& applying White washing, Clearance	98358.00	- 1		and the same of th

	T					
		of chowked drains between R.D.53/000 T 55/000 )	O'			The state of the s
29	29	Name of Work: - Maintenance of Theog Kotkhai hatkoti Road K.M. 0/000 to 69/000. (SH: - Cutting of Grass and bushes, Prov.& applying White washing, Clearand of chowked drains between R.D.55/000 TO 57/000)	ce O	2000	350/-	3 Months
		Name of work: - A/R &M/O Theog Kotkha Hatkoti road NH-705 k.m k.m. 0/000 to 69/000 - (SH:- Hiring of Excavator Cum loader for removal of slips & maintenance of earthen shoulder at various R.D. between		2000	350/-	3 Months
30	30	Name of Work: - Maintenance of Theog bye pas Road K.M. 174/040 to 176/400. (SH:-	99000	2000	350/-	3 Months
31	31	(SH:- Prov.& applying, Finishing with Epoxy paint, in K.M. 174/040 to 174/860)  Name of Work:- Maintenance of Theog bye	98498	2000	350/-	3 Months
32	32	pas Road K.M. 174/040 to 176/400. (SH:- Prov.& applying , Finishing with Epoxy paint ,in K.M. 174/860 to 175/580)	98498			0.26 41-
		Name of Work: - Maintenance of Theog bye pas Road K.M. 174/040 to 176/400. (SH:-(SH:- Prov.& applying, Finishing with Epoxy paint, in K.M. K.M. 175/580 to	98498	2000	350/-	3 Months
33		Name of Work: - Maintenance of Theog bye pas Road K.M. 174/040 to 176/400. (SH:-Cutting of Grass and bushes, Prov.& applying White washing, Clearance of chowked drains, in K.M. 174/040 to	98384	2000	350/-	3 Months
34	I C a c	Name of Work: - Maintenance of Theog bye pas Road K.M. 174/040 to 176/400. (SH:-Cutting of Grass and bushes, Prov.& pplying White washing, Clearance of thowked drains, in K.M. 175/240 to	98384	2000	350/-	3 Months
	N K: 16	76/240) Name of work :- R/R damages on alkahimla Wangtoo Road NH-05 k.m. 17/000 to 236/000 - (SH:- Clrearance of the between R.D. 177/000 to 179/000)	98695	2000	350/-	3 Months
37	Na Ka 167	ame of work: - R/R damages on Ikahimla Wangtoo Road NH-05 k.m. 1/000 to 236/000 - (SH:- Clrearance of in between R.D. 179/000 to 181/000)	98695	2000	350/-	3 Months

Terms & Conditions:- The tender documents shall be issued to those contractors/firms who fulfill the following documents with the application:

- 1 The valid enlistment/ registration of contractor in appropriate class.
- 2 Permanent Account Number(PAN)
- 3 GST Number and EPF No.
- 4 Earnest Money in the shape of National saving certificate/Time deposit account in any of the Post office in HP FDR from Tender form for the above works should be submitted with the application for the purchase of the tender forms. The application received without earnest money & Cost tender form shall summarily be rejected.
- 5 Ambiguous/telegraphic/Conditional tender of tender by fax/ E-mail shall not be entertained/considered and will summarily be rejected.
- 6 Executive Engineer reserves the right to reject or cancel any or all the tenders without assigning any reasons.
- 7 The offer of the tender shall remain valid upto 120 days after the opening of tender.
- 8 If the date given above happens to be a holiday, the same shall be processed on next working days.

The Contractors/firm must quote their rates in words as well as in figures failing which Xen reserves 9

the right to accept/reject any or all tenders.

10 The Tender form will not be issued to those contractors/firms whose previous performance is not found satisfactory and who have not executed/completed the previous awarded works within the stipulated period of completion.

11 One Contractor should not have more than two works in hand at a time.

12 Works should be completed by the contractor within the stipulated period.

Executive Engineer, NH Division,
H.P.P.W.D., Theog
Dated 26-//- 2025

No/PW/NH/CB/Tender/2025 - 5849-5/

Copy forwarded for information and necessary actions to:

- The Superintending Engineer NH Circle HP PWD Shimla.
- 2 All the Assistant Engineer working under this Division
- 3 The Drawing Branch/Account Branch in this office.
- 4 Notice Board.







## NATIONALHIGHWAY(NH-05) HIMACHALPRADESHPUBLICWORKSDE PARTMENT DIVISIONTHEOG

## Certificate

Certified that the tenders of works as called vide this office NIT No/PW/NH/CB/Tender/2025-5842-55 Dated 26-//-2025 are urgent nature and public interest.

	SCHEDULE OF QUAN	YTITY				98655
			1	Estimated Co	st: Rs:-	2000
Nan	le of Ward			Earnest Mone	y Rs:-	a Month.
2116	hoo D. Maintenance of NU co.			Time.		4 Grass and
	ne of Work :- Maintenance of NH-22 (New NH 05) from Km 13/00 to 24/250 and 153/180 to the company of the compan	156/507 O	n Kalka-S	himla Wangto	oo road (SH:- Cutting (	of Grass
Sr.	Grante washing , Clearance of chowked drainsFinishing with Er	oxy paint l	etween F	LD. 13/00 TO	14/000)	Amount
٧o.	hes, Prov.& applying White washing,Clearance of chowked drains,Finishing with Ep  Description of item	Quantity	Unit.		Rate	Amoun
1				In figure	In words	19840
	Clearing grass and removal of rubbish up to a distance of 50 metres outside the periphery of the area.	4000	Per Sqm.	4.96	Rupees Four and Paise Ninety Six Only	
						16128
_	White washing with lime to give an even shade :Old work (one or more coats) on Parapets , Trees, B/wall and V-shape drain etc. As	600	Per Sqm.	26.88	Rupees Twenty Six and Paise Eighty Eight Only	
_	The stage wildliff etc. As per direction of Engineer in Change				Rupees Seventy Two	43542
•	Removal of earth from the choked hill side drain and disposing it on the valley side manually	600	Per RMT	72.57	and Paise Fifty Seven	214
4	Finishing with Epoxy paint (two or more coats) at all locations prepared and applied as per	95.63	Per Sqm	200.20	Rupees Two Hundred	1914
	manufacturer's specifications including appropriate priming coat, preparation of surface, etc.				and Paise Twenty Onl	,
	Complete.On concrete work					986
	Total					
$\dashv$	(Quoted Rates in Figures )(+/-)			(	ж	)
	(Quoted Rates in words)(+/-)				1/	

SCHEDULE OF Q	JANTITY			T	98655	
		1-	stimated Cos	t: Rs:-		
ame of Work : Man		E	arnest Mone	y Rs:-	a Month.	
ame of Work :- Maintenance of NH-22 (New NH 05) from Km 13/00 to 24/250 and 153/1 ushes, Prov.& applying White washing , Clearance of chowked drains , ,Finishing wife.  Description of item	80 to 156/507 O	n Kalka-Sh	Time.	o road (SH:- Cutting (	of Grass and	
	h Epoxy paint I	oetween R.	D. 14/000 TO	15/000)		
		Unit.		Rate	Amount	
Clearing grass and removal of rubbich			In figure	In words	19840	
<ul> <li>Clearing grass and removal of rubbish up to a distance of 50 metres outside the periphery o</li> <li>White washing with lime to give an</li> </ul>	f the 4000	Per Sqm.	4.96	Rupees Four and Paise Ninety Six Only		
White washing with lime to give an even shade :Old work (one or more coats) on Parapets , T  White washing with lime to give an even shade :Old work (one or more coats) on Parapets , T  Removed. 6.	rees, 600	Per Sqm.	26.88	Rupees Twenty Six and Paise Eighty Eight Only		
nemoval of earth from the choked hill side drain and disposing it on the valley side manually	600	Per RMT	72.57	Rupees Seventy Two and Paise Fifty Seven	43542	
4   Finishing with 5	s per 95.63	Per Sqm	200.20	Only Rupees Two Hundred		
Finishing with Epoxy paint (two or more coats) at all locations prepared and applied a manufacturer's specifications including appropriate priming coat, preparation of surface	s per 95.05	1	1			
manufacturer's specifications including appropriate priming coat, preparation of surface complete.On concrete work	e, etc.			and Paise Twenty On	.,	

SCHEDULE OF QUAN	YTITY				22555
			Estimated Co	st: Rs:-	98655
realite of Work :- Mainton			Earnest Mon	ey Rs:-	2000
ousnes, Prov.& applying the NH-22 (New All Con-			Time.	-	2 Month.
Name of Work :- Maintenance of NH-22 (New NH 05) from Km 13/00 to 24/250 and 153/180 to Sr.  Obscription of item	156/507 O oxy paint i	n Kalka-S oetween R	shimla Wangt R.D. 1 <b>8</b> /800 TC	oo road (SH:- Cutting ( ) 1 <b>9</b> /800)	of Grass and
Description of the		Unit.		Rate	Amount
area	•		In figure	In words	
<ol> <li>Clearing grass and removal of rubbish up to a distance of 50 metres outside the periphery of the area.</li> <li>White washing with lime to give an even shade :Old work (one or more coats) on Parapets , Trees, bywall and V-shape drain etc. As per direction of Engineer-in-Charges.</li> </ol>	4000	Per Sqm.	4.96	Rupees Four and Paise Ninety Six Only	19840
B/wall and V-shape drain etc. As per direction of Engineer-in-Charges.  Removal of earth from the state of th	600	Per Sqm.	26.88	Rupees Twenty Six and Paise Eighty Eight Only	16128
Removal of earth from the choked hill side drain and disposing it on the valley side manually  Finishing with Epoxy paint (two or manually)	600	Per RMT	72.57	Rupees Seventy Two and Paise Fifty Seven Only	43542
Finishing with Epoxy paint (two or more coats) at all locations prepared and applied as per manufacturer's specifications including appropriate priming coat, preparation of surface, etc.  Total	95.63	Per Sqm.	200.20	Rupees Two Hundred and Paise Twenty Only	19145
(Quoted Rates in Figures )(+/-)					98655
			1	%)	

SCHEDULE OF QUA	NTITY			The same of the sa	
ame of W			Estimated Co	st: Rs:-	98655
ushes Processian Maintenance of the			Earnest Mon	ev Rs:-	2000
applying White			Time.		2 Month.
Jame of Work :- Maintenance of NH-22 (New NH 05) from Km 13/00 to 24/250 and 153/180 to Sr.  Sr.  Description of item	o 156/507 O	n Kalka-S between R	himla Wangt	oo road (SH:- Cutting ( 22/000)	of Grass and
1 Clearing grass and	Quantity	Unit.		Rate	Amount
area and removal of rubbich area			In figure	In words	1
<ol> <li>Clearing grass and removal of rubbish up to a distance of 50 metres outside the periphery of the area.</li> <li>White washing with lime to give an even shade :Old work (one or more coats) on Parapets , Trees, B/wall and V-shape drain etc. As per direction of Engineer-in-Charges.</li> <li>Removal of the control of the control of the periphery of the peripher</li></ol>	4000	Per Sqm.	4.96	Rupees Four and Paise Ninety Six Only	19840
B/wall and V-shape drain etc. As per direction of Engineer-in-Charges.  3 Removal of earth from the chelled Himself and the shallow the sh	600	Per Sqm.	26.88	Rupees Twenty Six and Paise Eighty Eight Only	16128
Removal of earth from the choked hill side drain and disposing it on the valley side manually  Finishing with Epoxy paint (two or mark)	600	Per RMT	72.57	Rupees Seventy Two and Paise Fifty Seven Only	43542
Finishing with Epoxy paint (two or more coats) at all locations prepared and applied as per manufacturer's specifications including appropriate priming coat, preparation of surface, etc. Total	95.63	Per Sqm.	200.20	Rupees Two Hundred and Paise Twenty Only	19145
					98655
(Quoted Rates in Figures )(+/-)			1	%)	
( · · · · · · · · · · · · · · · · · · ·					

SCHEDULE OF QUAN	ITITY		-		
Name of Work :- Maintenance of NH-22 (New NH 05) from Km 13/00 to 24/250 and 153/180 to Sr.  Description		E	stimated Cos	it: Rs:-	8655
Description of tem  Work:- Maintenance of NH-22 (New NH 05) from Km 13/00 to 24/250 and 153/180 to Sr.  Description of item		E	arnest Mone	y Rs:-	atonth.
White Work is (New NH 05) from Km 43/004 - 0.000			Time.		Crass and
Sr. Clearance of chowked drains Fisher Washing , Clearance of chowked drains	156/507 O	n Kalka-Sh	imla Wangto	o road (SH:- Cutting o	Glass
Description of the Description o	oxy paint l	between R.	D. 22/000 to	23/000)	- unt
1 Clearing grass and	Quantity	Unit.		Rate	Amount
area.			In figure	In words	19840
white Washing with the	4000	Per Sqm.	4.96	Rupees Four and Paise Ninety Six Only	
B/wall and V-shape drain etc. As per direction of Engineer-in-Charges.  Removal of earth from the shall discuss the shall be shal	600	Per Sqm.	26.88	Rupees Twenty Six and Paise Eighty Eight Only	16128
Removal of earth from the choked hill side drain and disposing it on the valley side manually  Finishing with Epoxy paint (two or more coats) at all locations prepared and applied as per manufacturer's specifications including appropriate priming coats.	600	Per RMT	72.57	Rupees Seventy Two and Paise Fifty Seven Only	43542
manufacturer's specifications including appropriate priming coat, prepared and applied as per complete.On concrete work	95.63	Per Sqm.	. 200.20	Rupees Two Hundred and Paise Twenty Only	19145
Total Complete.On concrete work	1				
Total (Quoted Rates in Figures )(+/-					98655

Nam Dusi		NTITY				
ousi	P of M.			Estimated Co	st: Rs:-	98655
	Work :- Maintenance		1	Earnest Mone	ev Rs:-	2000
	ries, Prov.& applying Mr. 11			Time.		2 Month.
Sr.	nee of Work :- Maintenance of NH-22 (New NH 05) from Km 13/00 to 24/250 and 153/180 and 153/180 and 153/180 and 153/180 and 153/180	156/507 O	n Kalka-S	nimla Wangto	oo road (SH:- Cutting	of Grass and
٧o.	,,Finishing with Ep	oxy paint l	between R	D. 23/000 to	24/000)	_
						Amount
•	Clearing grass and removal of the second sec	Quantity	Unit.		Nate	-
2	area.	1000		In figure	In words	19840
2	Clearing grass and removal of rubbish up to a distance of 50 metres outside the periphery of the White washing with lime to give an even shade :Old work (one or more coats) on Parapets , Trees, B/wall and V-shape drain etc. As per direction of Engineer-in-Charges.	4000	Per Sqm.	4.96	Rupees Four and Paise Ninety Six Only	
	B/wall and V-shape drain etc. As per direction of Engineer-in-Charges.  Removal of parth 6.	600	Per Sqm.	26.88	Rupees Twenty Six and	16128
3	Removal of earth from the choked hill side drain and disposing it on the valley side manually				Paise Eighty Eight Only	
	and the choked hill side drain and disposing it on the valley side manually	600	Per RMT	72.57	Rupees Seventy Two	43542
				12.51	and Paise Fifty Seven	
	Finishing with Epoxy paint (two or more coats) at all leave				Only	
	Finishing with Epoxy paint (two or more coats) at all locations prepared and applied as per manufacturer's specifications including appropriate priming coat property.	95.63	Per Sqm.	200.20	Rupees Two Hundred	19145
_	manufacturer's specifications including appropriate priming coat, preparation of surface, etc.  Total				and Paise Twenty Only	
						98655
	(Quoted Rates in Figures )(+/-)				%)	
	(Quoted Rates in words)(+/-)				70)	

lam Dust		NTITY				POCEE
lam Just				Estimated Co	ost: Rs:-	98655
ust	e of Work : Maint			Earnest Mon	ey Rs:-	2000
	les, Prov.& apply:			Time.		2 Month.
Sr.	e of Work :- Maintenance of NH-22 (New NH 05) from Km 13/00 to 24/250 and 153/180 to ess, Prov.& applying White washing,Clearance of chowked drains,,Finishing with Ep	o 156/507 O poxy paint I	n Kalka-S between R	himla Wangte I.D. 153/180 to	oo road (SH:- Cutting o 154/180)	
		( )IIIantity	Unit.		Rate	Amoun
٠	Clearing grass and removal of rubbish up to	-		In figure	In words	
	Clearing grass and removal of rubbish up to a distance of 50 metres outside the periphery of the White washing with lime to give an even the beautiful to the control of the washing with lime to give an even the beautiful to the control of the washing with lime to give an even the beautiful to the control of the washing with lime to give an even the beautiful to the control of the washing with lime to give an even the beautiful to the washing with lime to give an even the beautiful to the washing with lime to give an even the beautiful to the washing with lime to give an even the beautiful to the washing with lime to give an even the washing with lime to give an even the beautiful to the washing with lime to give an even the washing washing with lime to give an even the washing washing with lime to give an even the washing with lime to give an even the washing with lime to give an even the washing washing with lime to give an even the washing washing washing with lime to give an even the washing washin	4000	Per Sqm.	4.96	Rupees Four and Paise Ninety Six Only	19840
	White washing with lime to give an even shade :Old work (one or more coats) on Parapets , Trees, B/wall and V-shape drain etc. As per direction of Engineer-in-Charges.	600	Per Sqm.	26.88	Rupees Twenty Six and Paise Eighty Eight Only	16128
3	Removal of earth from the choked hill side drain and disposing it on the valley side manually					105 10
4		600	Per RMT	72.57	Rupees Seventy Two and Paise Fifty Seven Only	43542
	Finishing with Epoxy paint (two or more coats) at all locations prepared and applied as per manufacturer's specifications including appropriate priming coat, preparation of surface, etc. <u>complete.On concrete work</u>	95.63	Per Sqm.	200.20	Rupees Two Hundred and Paise Twenty Only	19145
	· odi					98655
	(Quoted Rates in Figures )(+/-)		(.		%)	1
	(Quoted Rates in words)(+/-)				,	

SCHEDULE OF C	UANTITY				
Name of M.			Estimated C	ost: Rs:-	98655
bushes. Prov. 8			Earnest Mor	ney Rs:-	2000
Sr. Sr. 10V.& applying White washing (New NH 05) from Km 13/00 to 0 (1975)			Time.		2 Month.
bushes, Prov.& applying White washing, Clearance of chowked drains, Finishing with No.  Description of item  Clearing grass and removal of rubbish up to a distance of 50 metres outside the periphery of White washing with lime to give an even shade Clear	Quantity	Unit.	R.D. 154/180	FO 155/180) Rate	Amount
Idrea	1		In figure	In words	
<ul> <li>White washing with lime to give an even shade :Old work (one or more coats) on Parapets , Tre</li> <li>Removed of a distance of 50 metres outside the periphery of B/wall and V-shape drain etc. As per direction of Engineer-in-Charges.</li> </ul>	he 4000	Per Sqm.	4.96	Rupees Four and Paise Ninety Six Only	19840
B/wall and V-shape drain etc. As per direction of Engineer-in-Charges.  Removal of earth from the choked hill side drain and disposing it on the valley side manually	es, 600	Per Sqm.	26.88	Rupees Twenty Six and Paise Eighty Eight Only	16128
Finishing with Epoxy paint (true	600	Per RMT	72.57	Rupees Seventy Two and Paise Fifty Seven Only	43542
- teamplete. On concrete week	er 95.63 c.	Per Sqm.	200.20	Rupees Two Hundred and Paise Twenty Only	19145
Total Total			l .		

Name of Work	à					
Name of Works				Estimated Co	S(: NS:-	96911
	h .			<b>Earnest Mone</b>	y Rs:-	2000
8/000 ) Maintenance of Shimla Bye page Nijes				Time.		2 Month.
Sr. Sr. Dye pass Nn-05 rd 13/00 to 24/250	). (SH:- Cutting of	Grass and	bushes,	Clearance of	chowked drains betwe	en rd 17/000 i
lame of Work :- Maintenance of Shimla Bye pass Nh-05 rd 13/00 to 24/250 Sr. Description - 5 lb			•			
Description of item			Unit.		Rate	Amount
clearing grass and removal of rubbish up to a disc	· ·			In figure	In words	
1 Clearing grass and removal of rubbish up to a distance of 50 metres outside to	the periphery of the	5200	Per Sqm.	4.96	Rupees Four and Paise	25792
2 Removal of court of		1	'		Ninety Six Only	1
2 Removal of earth from the choked hill side drain and disposing it on the valley si						71110
and anaposing it on the valley si	de manually	980	Per RMT	72.57	Rupees Seventy Two	71119
and disposing it on the valley si	de manually	980	Per RMT	72.57	and Paise Fifty Seven	/1119
	de manually	980	Per RMT	72.57		71119
Total			Per RMT	72.57	and Paise Fifty Seven	96911
Total	ates in Figures )(+/-)				and Paise Fifty Seven	

				sale sales		_
	SCHEDULE OF QUANT	TITY				
$\mid \cdot \mid$		-		Estimated Cost:	Rs:-	96992
Nan	ne of work :-R/R Dame			Earnest Money	Rs:-	2000
19/0 Sr.	ne of work :-R/R Damages on Shimla Bye pass Road k.m. 13/000 to 24/250- (SH:- R	emoval o	f lands	Time. lide /unserv	3 Month. iceable soil between	R.D. 16/000 to
		Quantit	Unit.	,	Rate	Amount
	Opening of catalant and side /unserviceable soil in all type of real in all type of re	у		In figure	In words	
	Removal of landslide /unserviceable soil in all type of rock, including hard rock and opening of catchpits for choked culverts including cutting by a hydraulic excavator, loading and disposal upto 10 km lead as per MORTH specification 2019 clause 3000. Any loss to public /private poperty during course of excavation shall be the whole	320.00	Per Cum.	303.10	Rupees Three Hundred Three and Paise Ten Only	96992
	responsibility of the contractor including carriag.					
	Total				,	96992
	responsibility of the contractor including carriag.  Total  (Quoted Rates in Figures )(+/-) (Quoted Rates in words)(+/-)			(	%	

	SCHEDULE OF QUAN	ГІТҮ		Estimated Cost: Earnest	Rs:-	96992
Nar 24/2	me of work :-R/R Damages			Time	3 Month.	1000 to
No.	Description of item	emoval o	f lands Unit.	lide /unserv	iceable soil between	Amount
1	Removal of landslide (	у	O	In figure	In words	00003
	Removal of landslide /unserviceable soil in all type of rock, including hard rock and opening of catchpits for choked culverts including cutting by a hydraulic excavator, loading and disposal upto10 km lead as per MORTH specification 2019 clause 3000. Any loss to public /private poperty during course of excavation shall be the whole responsibility of the contractor including carriag.	320.00	Per Cum.	303.10	Rupees Three Hundred Three and Paise Ten Only	96992
						96992
	(Quoted Rates in Figures )(+/-)		•	(	%	)
	(Quoted Rates in words)(+/-)					

-

SCHEDULE OF QUAN	TITY	10	Estimated Cos	t: Rs:-	8358
Mo of IV					2000
chowked desired			Time.		2 Month.
me of Work :- Maintenance of Theog Kotkhai hatkoti Road K.M. 0/000 to 69/000. (SH:- Cut	tting of Gra	ass and b	ushes, Prov.8	applying White washi	ng,
Description of item	Quantity	Unit.		Rate	Amount
Clearing grass and removal of multi-	•		In figure	In words	23808
Clearing grass and removal of rubbish up to a distance of 50 metres outside the periphery of the Removal of earth from the characteristics.	4800	Per Sqm.	4.96	Rupees Four and Paise Ninety Six Only	
the choked hill side drain and disposing it on the valley side manually	748	Per RMT	72.57	Rupees Seventy Two and Paise Fifty Seven Only	54282
White washing with lime to give an even shade :Old work (one or more coats) on Parapets , Trees,  Total	754	Per Sqn	n. 26.88	Rupees Twenty Six and Paise Eighty Eight Only	
·			<del> </del>		98358
(Quoted Rates in Figures )(+/-)	)		(	%,	)
(Quoted Rates in words)(+/-			(**************************************		

SCHEDULE OF QUA	NTITY				
vame of Work :- Maint			Estimated Co	ost: Rs:-	98358
Chowked drains had Theory			<b>Earnest Mon</b>	ey Rs:-	2000
Detween R.D. 0/200 To			Time.		2 Month.
f chowked drains between R.D. 0/800 TO 1/600)  Description of item  Clearing grass and removal of rubbish up to a distance of 50 metres outside the periphery of the Removal of earth from the choked hill side drain and distance in the Removal of earth from the choked hill side drain and distance in the Removal of earth from the choked hill side drain and distance in the Removal of earth from the choked hill side drain and distance in the Removal of earth from the choked hill side drain and distance in the Removal of earth from the choked hill side drain and distance in the Removal of earth from the choked hill side drain and distance in the Removal of earth from the choked hill side drain and distance in the Removal of earth from the choked hill side drain and distance in the Removal of earth from the choked hill side drain and distance in the Removal of earth from the choked hill side drain and distance in the Removal of earth from the choked hill side drain and distance in the Removal of earth from the choked hill side drain and distance in the Removal of earth from the choked hill side drain and distance in the Removal of earth from the choked hill side drain and distance in the Removal of earth from the choked hill side drain and distance in the Removal of earth from t	Quantity	Unit.		Rate	Amount
Removal 6			In figure	In words	
Removal of earth from the choked hill side drain and disposing it on the valley side manually  White washing with the choked hill side drain and disposing it on the valley side manually	4800	Per Sqm.		Rupees Four and Paise Ninety Six Only	23808
	748	Per RMT	72.57	Rupees Seventy Two and Paise Fifty Seven	54282
White washing with lime to give an even shade :Old work (one or market)				Only	
White washing with lime to give an even shade :Old work (one or more coats) on Parapets , Trees,  Total	754	Per Sqm.	26.88	Rupees Twenty Six and Paise Eighty Eight Only	
White washing with lime to give an even shade :Old work (one or more coats) on Parapets , Trees,  Total	754	Per Sqm.	26.88	Rupees Twenty Six and	
White washing with lime to give an even shade :Old work (one or more coats) on Parapets , Trees,  B/wall and V-shape drain etc. As per direction of Engineer-in-Charges.  Total  (Quoted Rates in Figures )(+/-)  (Quoted Rates in words)(+/-)		·		Rupees Twenty Six and	

Name of Work :- Maintenance of Theog Kotkhai hatkoti Road K.M. 0/000 to 69/000. (SH:- Cu Sr. No. Description of item		-			
of Chowles - Maintenance -		\C	stimated Co	st: Rs:-	8358
		E	arnest Mone	y Rs:-	2000
between of Theog Kotkhai batter			Time.		2 Month.
Description of item  Clearing grass and removal of rubbish up to a distance of 50 metres outside the periphery of the  Removal of earth from the choked hill side drain and the	Quantity	Unit.		Rate	Amount
area.			In figure	in words	
nemoval of earth from the choked hill side days	4800	Per Sqm.	4.96	Rupees Four and Paise Ninety Six Only	23808
side drain and disposing it and it			,	Initially Six Offig	The second secon
White washing with the	740	Per RMT	72.57	Rupees Seventy Two and Paise Fifty Seven Only	54282
and disposing it on the valley side manually	740	Per RMT Per Sqm.		Rupees Seventy Two and Paise Fifty Seven	20268
3 White washing with the	748 754			Rupees Seventy Two and Paise Fifty Seven Only Rupees Twenty Six and	20268

001155					
SCHEDULE OF QUA	NTITY				
		E	stimated Co	st: Rs:-	98358
lame of Work :- Maintenance of Theog Kotkhai hatkoti Road K.M. 0/000 to 69/000. (SH:- Co Sr. Description of the		E	arnest Mone	v Rs:-	2000
cnowked drains between the state of the stat			Time.		2 Month.
Sr.   Road K.M. 0/000 to 69/000. (SH:- Ci	utting of Gr	ass and bu	ishes. Prov.	anniving White wash	ing , Clearance
No.	•			applying vince	
Description of item					
Clearing grass and remove to	Quantity	Unit.		Rate	Amount
area.			In figure	In words	
Clearing grass and removal of rubbish up to a distance of 50 metres outside the periphery of the Removal of earth from the choked hill side drain and disposing it on the valley side manually	4800	Per Sqm.	4.96	Rupees Four and Paise	23808
the choked hill side drain and disposing it on the valley of				Ninety Six Only	
3 White	748	Per RMT	72.57	Rupees Seventy Two	54282
white washing with the	1		1	and Paise Fifty Seven	
B/wall and V-shape drain etc. As por disc. it is also work (one or more coats) on Parapets. Trees	754	Per Sqm	26.00	Only	20268
B/wall and V-shape drain etc. As per direction of Engineer-in-Charges.  Total	, , , , ,	I el Sqiii	26.88	Rupees Twenty Six and	
· otal	1		1	Paise Eighty Eight Only	<b>'</b> \
					98358
(Quoted Rates in Figures )(+/	-)		1		
(Quoted Rates in words)(+/	1			%	
	7				

Name of Work :- Maintenance of Theog Kotkhai hatkoti Road K.M. 0/000 to 69/000. (SH:- CSr. No. Description of item			Estimated Co	st: Rs:-	09358
of chowked drains between R.D. 19/600 to 20/800 )  Sr. No.					30330
Sr. between R.D. 19/600 to 20/800 )			Earnest Mon	ey Rs:-	2000
No. 19/000 to 20/800 )			Time.		2 Month.
	utting of Gr	ass and b	ushes, Prov.	& applying White wash	ing , Clearand
Description of item					
Clearing grass and ross	Quantity	Unit.		Rate	Amount
area.			In figure	In words	
1 Clearing grass and removal of rubbish up to a distance of 50 metres outside the periphery of the 2 Removal of earth from the control of the	4800	Per Sqm.	4.96	Rupees Four and Paise	23808
Removal of earth from the choked hill side drain and disposing it on the valley side manually				Ninety Six Only	
and disposing it on the valley side manually	748	Per RMT	72.57	Rupees Seventy Two	54282
White washing with I				and Paise Fifty Seven	
B/wall and V about 11me to give an even shade :Old work (one or more seats) as B		<del> </del>		Only	20000
White washing with lime to give an even shade :Old work (one or more coats) on Parapets , Trees,  B/wall and V-shape drain etc. As per direction of Engineer-in-Charges.	754	Per Sqm.	26.88	Rupees Twenty Six and	20268
Total				Paise Eighty Eight Only	
					98358
					-
(Quoted Rates in Figures )(+/-)		(.		%)	

SCHEDULE OF Q	JANTITY				
me of Work :- Maintena			Estimated Co	et Re-	98358
SHOWKed drains between of Theog Kotte			Earnest Mon	ev Rs:-	2000
. 21/000 TO 23/200 Road K.M. 0/000 to spinon in			Time.		2 Month.
me of Work: - Maintenance of Theog Kotkhai hatkoti Road K.M. 0/000 to 69/000. (SH:  Description of item  Clearing grass and removal of rubbish up to a distance of 50 metres outside the periphery of Removal of earth from the choked hill side drain and disposingly.	Oue-th.	ass and p	usnes, Prov.	& applying White wash	ning , Clearanc
area.	Quantity	Unit.		Rate	Amount
Removal of earth from the contract of 50 metres outside the periphery of	Ab - 1000	-	In figure	In words	
the choked hill side drain and diena i		Per Sqm.		Rupees Four and Paise Ninety Six Only	23808
alsposing it on the valley of		Per RMT	72.57	Rupees Seventy Two	54282
White washing a second disposing it on the valley side manually	748	I CITANI	12.51	and Paise Fifty Seven	
White washing with lime to give an even shade :Old work (one or more coats) on Parapets , T  Total	748 rees, 754	Per Sqm	72.07	and Paise Fifty Seven Only Rupees Twenty Six and Paise Eighty Eight Only	20268

	SCHEDULE OF QUAN	ITITY			Ta	98358
				Estimated Co	st: Hs:-	
Name of Work :- Maintenance of Theog Kotkhai hatt of chowked drains between R.D. 22/500 TO 23/600 Sr.			1	Earnest Mone	y Rs:-	2000
of chowked drains				Time.		2 Month. ing . Clearanc
Sr. Detween R.D. 22/500 TO 23/600	oti Road K.M. 0/000 to 69/000. (SH:- Cu	tting of Gr	ass and b	ushes, Prov.8	applying White wash	ing, Clears
lo. Description	)	_				
Description o	of itom		Unit.		Rate	Amount
Clearing grass and removal of rubbish up to a distance     Removal of earth from the cholest till.				In figure	in words	1
Removal of a set of	ce of 50 metres outside the periphery of the	4800	Per Sqm.		Rupees Four and Paise	23808
from the choked hill side drain and di					Ninety Six Only	
Removal of earth from the choked hill side drain and di	sposing it on the valley side manually	748	Per RMT	72.57	Rupees Seventy Two	54282
White washing with Item					and Paise Fifty Seven	\
B/wall and V-shape drain etc. A	vork (one or more coats) on Paranets Troop	754	Per Sqm	20.00	Only	20268
B/wall and V-shape drain etc. As per direction of Engine	eer-in-Charges.	754	Lei Sdm	. 26.88	Rupees Twenty Six and Paise Eighty Eight Only	
TOTAL	-				Faise Eighty Eight Offi	,
						9835
The state of the s	10			1		1 3000

(Quoted Rates in Figures )(+/-) (Quoted Rates in words)(+/-) Executive Engineer, NH Division HPPWD, Theog.

SCHEDULE OF QUAN	TITY			983	
SoftEboLE 3. Car			stimated Cos	t: Rs:- 200	
		E	arnest Mone	y Rs:- 21	Month.
ame of Work :- Maintenance of Theog Kotkhai hatkoti Road K.M. 0/000 to 69/000. (SH:- Cu			Time.	aphing	. Clearan
chowked draine	100	and bu	sehes Prov.&	applying White Washing	_
f chowked drains between R.D. 22/500 TO 23/600 )	tting of Gra	ass and be	Janes, 1 10110		Amount
0. Possibili				5-4-	Amoun
Description of item	Quantity	Unit.		Rate	
Clearing grass and removal of rubbish up to a distance of 50 metres outside the periphery of the	_	1	In figure	In words	23808
area.	4800	Per Sqm.	4.96	Rupees Four and Paise	
Removal of control	4000	1. 5. 54		Ninety Six Only	54282
Removal of earth from the choked hill side drain and disposing it on the valley side manually	748	Per RMT	72.57	Rupees Seventy Two	
and disposing it on the valley side manually		1 . 3	\ , 2.5.	and Paise Fifty Seven	1
White washing with I	1	1	\	Only	20268
White washing with lime to give an even shade :Old work (one or more coats) on Parapets , Trees  B/wall and V-shape drain etc. As per direction of Engineer in Charges	754	Per Sam	26.88	Rupees Twenty Six and	20200
B/wall and V-shape drain etc. As per direction of Engineer-in-Charges.	ή	1 4		Paise Eighty Eight Only	
Total	1	1			
i ola			1		98358
TOTAL	1				
(Quoted Rates in Figures )(+/-				%)	

	SCHEDULE OF QUAN	YTITY				98358
				Estimated Cos	t; Rs:-	
				Earnest Mone	y Rs:-	2000
enn	e of Work :- Maintenance of Theog Kotkhai hatkoti Road K.M. 0/000 to 69/000. (SH:- Cu lowked drains between R.D. 40/000 TO 42/000 )			Time		2 Month.
Sr. No.	owked drains between R.D. 40/000 TO 42/000 )  Description of item	Quantity	Unit.		Rate	Amount
1	Clearing grass and removed to	Quantity	J	In figure	in words	1
2	Clearing grass and removal of rubbish up to a distance of 50 metres outside the periphery of the Removal of earth from the children in the children in the children is a constant.	4800	Per Sqm.	4.96	Rupees Four and Paise Ninety Six Only	
-	Rernoval of earth from the choked hill side drain and disposing it on the valley side manually	748	Per RMT	72.57	Rupees Seventy Two and Paise Fifty Seven	54282
3	White washing with lime to a		1		Only	
	White washing with lime to give an even shade :Old work (one or more coats) on Parapets , Trees, B/wall and V-shape drain etc. As per direction of Engineer-in-Charges.	754	Per Sqm	. 26.88	Rupees Twenty Six and Paise Eighty Eight Only	
	Total					
						98358
	(Quoted Rates in Figures )(+/-)			(	%)	)
	(Quoted Rates in words)(+/-			·	A	

	SCHEDULE OF QUAN	1	E	stimated Co	st: Rs:-	98358 2000	
			E	arnest Mone	y Rs:-		nth.
Vai	ne of Work :- Maintenance			Time.		ing.	Clearance
of c	ne of Work :- Maintenance of Theog Kotkhai hatkoti Road K.M. 0/000 to 69/000. (SH:- Cu howked drains between R.D. 42/000 TO 44/000 )	ıtting of Gr	ass and bu	ishes, Prov.8	k applying White was	,,,,,	
Sr.	100 10 44/000 )					T	<b>Amount</b>
No.	Description of item	Quantity	Unit.		Rate	$\dashv$	
1	Clearing grass and removed of			In figure	In words	-	23808
_	Clearing grass and removal of rubbish up to a distance of 50 metres outside the periphery of the	4800	Per Sqm.	4.96	Rupees Four and Paise Ninety Six Only	-	
_	Removal of earth from the choked hill side drain and disposing it on the valley side manually	748	Per RMT	72.57	Rupees Seventy Two and Paise Fifty Seven Only		54282
3	White washing with lime to give an even shade :Old work (one or more coats) on Parapets, Trees, B/wall and V-shape drain etc. As per direction of Engineer-in-Charges.	, 754	Per Sqm	26.88	Rupees Twenty Six at Paise Eighty Eight Or		20268
	Total	1		-		-	98358
	(Quoted Rates in Figures )(+/-	)		(		%)	
	(Quoted Rates in words)(+/-			•			

NH Division HPPWD,

SCHEDULE OF QUA	NTITY				98358
			Estimated Co	ost: Rs:-	
ne of Work :- Maint			Earnest Mon	ey Rs:-	2000
howked draine to a state of Theog Kotkhai hours			Time.		2 Month.
ne of Work :- Maintenance of Theog Kotkhai hatkoti Road K.M. 0/000 to 69/000. (SH:- C howked drains between R.D. 44/000 to 45/200 )	utting of Gr	rass and b	ushes, Prov.	& applying White wash	ing,
Description of item					Amount
Clearing grass and removal of rubbish up to a distance of 50 metres outside the periphery of the	Quantity	Unit.		Rate	-
area		1	In figure	in words	
distance of 50 metres outside the periphery of the	4800	Per Sqm.	4.96	Rupees Four and Paise	23808
Removal of earth from the choked hill it				Ninety Six Only	
White washing with line to a second will side drain and disposing it on the valley side manually	748	Per RMT	72.57	Rupees Seventy Two and Paise Fifty Seven	54282
Removal of earth from the choked hill side drain and disposing it on the valley side manually  White washing with lime to give an even shade .Old work (one or more coats) on Parapets , Trees,  B/wall and V-shape drain etc. As per direction of Engineer-in-Charges.	748	Per RMT Per Sqm.		Rupees Seventy Two	20268

$\dashv$	SCHEDULE OF QUAN	TITY			100	3358
$\dashv$		····	E	stimated Cos	+ De'-	000
lame	of Work		E	arnest Mone		
of ch	Owked design and of Theory Kottheil but the			Time.	was the washit	ng , Clearance
3r.	e of Work :- Maintenance of Theog Kotkhai hatkoti Road K.M. 0/000 to 69/000. (SH:- Cur owked drains between R.D. 45/200 to 46/400 )	tting of Gra	ass and bu	ishes, Prov.8	applying White was	Amount
VO.	Description of item	Quantity	Unit.		Rate	Aire
1	Clearing grass and removal of multiple	•	l l	In figure	In words	23808
2	Clearing grass and removal of rubbish up to a distance of 50 metres outside the periphery of the Removal of earth from the classical section of the Removal of earth from the classical section.	4800	Per Sqm.	4.96	Rupees Four and Paise Ninety Six Only	54282
	Removal of earth from the choked hill side drain and disposing it on the valley side manually	748	Per RMT	72.57	Rupees Seventy Two and Paise Fifty Seven	\
3	White washing with lime to give an even shade Old				Only	20268
	White washing with lime to give an even shade :Old work (one or more coats) on Parapets , Trees, B/wall and V-shape drain etc. As per direction of Engineer-in-Charges.	754	Per Sqm	. 26.88	Rupees Twenty Six and Paise Eighty Eight Only	
	Total	-		-		98358
_	(Quoted Rates in Figures )(+/-	<del>,  </del>		(	%)	
	(Quoted Rates in words)(+/-					

	SCHEDULE OF QUAN	ITITY				
Nam	e of Work :- Maintenance of Th			Estimated Co		98358 2000 2 Month.
Sr. No.	e of Work :- Maintenance of Theog Kotkhai hatkoti Road K.M. 0/000 to 69/000. (SH:- Cunowked drains between R.D. 46/400 TO 48/000 )	itting of Gr	ass and b	ushes, Prov.8	k applying White wash	ing , Clearance
	Description of item	Quantity	Unit.		Rate	Amount
	area			In figure	In words	23808
2	Clearing grass and removal of rubbish up to a distance of 50 metres outside the periphery of the area.  Removal of earth from the choked hill side drain and disposing it on the valley side manually	4800	Per Sqm.	4.96	Rupees Four and Paise Ninety Six Only	
3	White washing with lime to give	748	Per RMT	72.57	Rupees Seventy Two and Paise Fifty Seven Only	54282
	White washing with lime to give an even shade :Old work (one or more coats) on Parapets , Trees, B/wall and V-shape drain etc. As per direction of Engineer-in-Charges.	754	Per Sqm	. 26.88	Rupees Twenty Six and Paise Eighty Eight Only	
	. 500			1		98358
$\vdash$	(Quoted Rates in Figures )(+/-)			(	%	)
	(Quoted Rates in words)(+/-)			•		
					Executive Engin	eer,

NH Division HPPWD,

Nam of ch	SCHEDULE OF QUAI				7	
Nam of ch		1		Estimated Co	781. NS	98358
of ch	e of Work : Maint			Earnest Mon	ay Rs:-	2000
Sr.	Owked drains a had seen and the			Time.		2 Montil.
	e of Work :- Maintenance of Theog Kotkhai hatkoti Road K.M. 0/000 to 69/000. (SH:- Cu nowked drains between R.D. 48/000 TO 49/500 )	utting of Gr	ass and b	ushes, Prov.&	applying White wash	ing, Clear
No.	Description of item					Amount
	Classic State of Stat	Quantity	Unit.		Rate	Amount
•	Clearing grass and removal of rubbish up as			In figure	in words	23808
2	Clearing grass and removal of rubbish up to a distance of 50 metres outside the periphery of the Removal of earth from the children in the chi	4800	Per Sqm.	4.96	Rupees Four and Paise	23800
	Removal of earth from the choked hill side drain and disposing it on the valley side manually	748	Per RMT	72.57	Ninety Six Only Rupees Seventy Two	54282
			FEI KIVII	12.51	and Paise Fifty Seven	
3	White washing with lime to give an even shall said				Only	20268
	White washing with lime to give an even shade :Old work (one or more coats) on Parapets , Trees, B/wall and V-shape drain etc. As per direction of Engineer-in-Charges.	754	Per Sqm.	26.88	Rupees Twenty Six and Paise Eighty Eight Only	20200
_	Total					22250
						98358
					%)	
	(Quoted Rates in Figures )(+/-)	l .	(,	*****************		

1	SCHEDULE OF QUAN	TITY				
+				Estimated Cos	T: KS:-	98358
Nam				<b>Earnest Mone</b>	y Rs:-	2000
of ch	of Work :- Maintenance of Theory Kathania			Time.		Clearance
1	e of Work :- Maintenance of Theog Kotkhai hatkoti Road K.M. 0/000 to 69/000. (SH:- Cu lowked drains between R.D. 49/500 TO 51/000 )	tting of Gr	ass and b	oushes, Prov.&	applying White wash	Amount
No.	Description of item	Quantity	Unit.		Rate	Amount
1	Clearing grass and removal of the second sec		1	In figure	In words	23808
2	Clearing grass and removal of rubbish up to a distance of 50 metres outside the periphery of the Removal of earth from the company of the Company	4800	Per Sqm	4.96	Rupees Four and Paise Ninety Six Only	
_	Removal of earth from the choked hill side drain and disposing it on the valley side manually  White washing with 1	748	Per RM	72.57	Rupees Seventy Two and Paise Fifty Seven Only	54282
	White washing with lime to give an even shade :Old work (one or more coats) on Parapets , Trees B/wall and V-shape drain etc. As per direction of Engineer-in-Charges.	, 754	Per Sqr	m. 26.88	Rupees Twenty Six an Paise Eighty Eight Onl	
_	Total	+		-		98358
-	(Quoted Rates in Figures )(+/	.)		(	%	
	(Quoted Rates in words)(+/					

	SCHEDING OF OTHER	LITITY				
_	SCHEDULE OF QUAI	NIIIY	T-	Estimated Co	et· De·	8358
				Earnest Mone	w Der	2000
Na	Me of Work . M.			Time	, no.	2 Month.
of (	me of Work :- Maintenance of Theog Kotkhai hatkoti Road K.M. 0/000 to 69/000. (SH:- Cuchowked drains between R.D. 51/500 TO 53/000 )	utting of Gr	ass and b	ushes, Prov.&	& applying White washi	ng, Clearance
Sг.	33,000 )					
ог. Ю.		Quantity	Unit.		Rate	Amount
				In figure	In words	23808
_	Clearing grass and removal of rubbish up to a distance of 50 metres outside the periphery of the area.	4800	Per Sqm.	4.96	Rupees Four and Paise Ninety Six Only	54282
2	Removal of earth from the choked hill side drain and disposing it on the valley side manually	748	Per RMT	72.57	Rupees Seventy Two and Paise Fifty Seven Only	20069
	White washing with lime to give an even shade :Old work (one or more coats) on Parapets , Trees,	754	Per Sqm.	26.88	Rupees Twenty Six and Paise Eighty Eight Only	
- 1	B/wall and V-shape drain etc. As per direction of Engineer-in-Charges.					98358
-	Total				%)	
				<i>(</i>		
	(Quoted Rates in Figures )(+/-)			(	A	

	SCHEDULE OF QUA	ANTITY				98358
				Estimated C		2000
				Earnest Mo		2 Month.
Nar	ne of Work :- Maintenance ( T			Time.	100 the most	ing Clearance
of c	ne of Work :- Maintenance of Theog Kotkhai hatkoti Road K.M. 0/000 to 69/000. (SH:- Chowked drains between R.D. 53/500 TO 55/000 )	utting of G	rass and I	oushes, Prov	& applying White was	Amount
No.	Description of item	Quantity	Unit.		Rate	Allie
_				In figure	in words	23808
	Clearing grass and removal of rubbish up to a distance of 50 metres outside the periphery of the area.	4800	Per Sqm.	4.96	Rupees Four and Paise Ninety Six Only	
	Removal of earth from the choked hill side drain and disposing it on the valley side manually	748	Per RMT	72.57	Rupees Seventy Two and Paise Fifty Seven Only	54282
3	White washing with lime to give an even shade :Old work (one or more coats) on Parapets , Trees, B/wall and V-shape drain etc. As per direction of Engineer-in-Charges.	754	Per Sqm.	26.88	Rupees Twenty Six and Paise Eighty Eight Only	20268
	Total					98358
	(Quoted Rates in Figures )(+/-)		(		%)	•
	(Quoted Rates in words)(+/-)					

	SCHEDULE OF QUAN	TITY				98358
				Estimated Cos		2000
T				Earnest Mone		2 Month.
lam	e of Work . As :			Time.		ing Clearance
	e of Work :- Maintenance of Theog Kotkhai hatkoti Road K.M. 0/000 to 69/000. (SH:- Cu nowked drains between R.D.55/000 to 57/000 )	tting of Gra	ass and b	ushes, Prov.8	applying White wasn	ing,
Sr. No.	Description of item	Quantity	Unit.		Rate	Amount
		•		In figure	In words	23808
<u>'</u>	Clearing grass and removal of rubbish up to a distance of 50 metres outside the periphery of the area.	4800	Per Sqm.	4.96	Rupees Four and Paise Ninety Six Only	54282
2	Removal of earth from the choked hill side drain and disposing it on the valley side manually	748	Per RMT	72.57	Rupees Seventy Two and Paise Fifty Seven Only	
3	White washing with lime to give an even shade :Old work (one or more coats) on Parapets , Trees B/wall and V-shape drain etc. As per direction of Engineer-in-Charges.	754	Per Sqn	26.88	Rupees Twenty Six an Paise Eighty Eight Onl	20268 ly
_	Total		-			98358
	(2 1 1 5 1 1 5 1 1 5 1 1 1 5 1 1 1 5 1 1 1 5 1			1	%	6)
	(Quoted Rates in Figures )(+/-	71		(		

SCHEDULE OF QUA	NTITY				
		-	Estimated Cost:	Rs:-	99000.00
Name of work a D/D			Earnest Money	Rs:-	2000
Name of work :- R/R Damages on Theog Kotkhai Hatkoti road k.m. 0/000 to 69/000 naintenance of earthen shoulder at various R.D. between 0/000 to 5/000) Gr.	(SH:- Hiri	ng of E	Time. xcavator Cu	3 Month. m loader for remo	oval of slips &
o. Description of item				Rate	Amount
Description of item  Hiring of Excavator cum loader for removal of slins for exactly being a single for exactly being the single for			In figure		
	Quantit y 90			Rate	
Description of item  Hiring of Excavator cum loader for removal of slips for smooth plying of traffic with Maintenance, any minor and major accident and other demonstration. P.O.L charges.	Quantit y 90	Unit.	In figure	Rate In words Rupees one thousand one	Amount

SCHEDULE OF QU	ANTITY				
(Mo of )			Estimated Co	st: Rs:-	98498
The Of Work :- Maintenance of The			Earnest Mon	ey Rs:-	2000
Theog bye pas Road K.M. 174(040 4. 474)			Time.		2 Month.
nme of Work :- Maintenance of Theog bye pas Road K.M. 174/040 to 176/400. (SH:- Pro r. Description of item		, rinishir	ig with Epox	y paint ,in K.M. 174/040	10 11400-77
Finishing with East	Quantity	Unit.	ig with Epox	y paint ,in K.M. 174/040	Amount
Finishing with East	Quantity		In figure		
Description of item  Finishing with Epoxy paint (two or more coats) at all locations prepared and applied as prepared and appl	Quantity			Rate	

_	3						
	SCHEDULE OF QUA	NTITY					98498
_				Estimated C	ost: Rs:		
Nam				Earnest Mor	ney Rs:-		2000
14411	e of Work :- Maintenance of These			Time.			2 Month. to 175/580))
_							
No.	- societion of item	Quantity	Unit.		Rate		Amount
<b>No.</b>	Description of item	Quantity		In figure		)	Amount
<b>No.</b>	Description of item	Quantity			Rate In wor	)	
<b>No.</b>	Description of item	Quantity	Unit.	In figure	Rate In wor	r <b>ds</b> s Two Hundred	Amount
<b>No.</b>	Description of item  Finishing with Epoxy paint (two or more coats) at all locations prepared and applied as per manufacturer's specifications including appropriate priming coat, preparation of surface, etc.	Quantity 492.00	Unit. Per Sqm.	In figure 200.20	Rate In wor Rupees and Pa	r <b>ds</b> s Two Hundred	98498

	•		·	<b>y</b> 2	
SCHEDULE OF QUA	NTITY				
			Estimated C	ost: Rs:-	98498
Name of Work :- Mainter			Earnest Mor	ney Rs:-	2000
Maintenance of Theog bye pas Road K M 474/040			Time.		2 Month.
Name of Work :- Maintenance of Theog bye pas Road K.M. 174/040 to 176/400. (SH:- Prov.	& applying	, Finishi	ng with Epox	ty paint ,in K.M. 17	5/580 to 176/400))
					1
No. Description of item		Unit.		Rate	Amount
No. Description of item  1 Finishing with Engage.	Quantity		In figure	Rate In words	
No. Description of item  1 Finishing with Engage.	Quantity		In figure - 200.20		ed 98498
No. Description of item	Quantity	Unit.		In words Rupees Two Hundre	ed 98498 niy
Poscription of item  1 Finishing with Epoxy paint (two or more coats) at all locations prepared and applied as per manufacturer's specifications iacluding appropriate priming coat, preparation of surface, etc.	Quantity	Unit. Per Sqm.	200.20	In words Rupees Two Hundre	98498 98498

_	SCHEDULE OF QUA	YTITY				
_				Estimated Co	ST: KS:-	97044
Jan				Earnest Mone	ey Rs:-	2000
haii	ie of Work :- Maintenance of Theography			Time.		2 Month. Clearance of
110	ne of Work :- Maintenance of Theog bye pas Road K.M. 174/040 to 176/400. (SH:- Cuttin wked drains ,in K.M. 174/040 to 175/240)	g of Grass	and bush	es, Prov.& ap	plying White washing,	Clearance
ŝr.						
ο.	Description of item	Quantity	Unit.	Γ	Rate	Amount
1			O	In figure	In words	1
	Clearing grass and removal of rubbish up to a distance of 50 metres outside the periphery of the	5400	Per Sqm.	4.96	Rupees Four and Paise Ninety Six Only	26784
4	Removal of earth from the choked hill side drain and disposing it on the valley side manually	720	Per RMT	72.57	Rupees Seventy Two and Paise Fifty Seven Only	52250
4	White washing with lime to give an even shade :Old work (one or more coats) on Parapets , Trees, 3/wall and V-shape drain etc. As per direction of Engineer-in-Charges.	670	Per Sqm	. 26.88	Rupees Twenty Six and Paise Eighty Eight Only	
1	otal					97044
4	(Quoted Rates in Figures )(+/-)			(	%)	
	(Quoted Rates in words)(+/-)			·		
		1				
					Executive Engine	er,

NH Division HPPWD,

SCHEDULE OF QUA	ANTITY				
ame of the			Estimated Co	ost: Rs:-	97044
lowked - Maintenance of The Company			Earnest Mon	ey Rs:-	2000 2 Month.
drains ,in K.M. 175/240 theog bye pas Road K.M. 174/240			Time.		Clearance
ame of Work :- Maintenance of Theog bye pas Road K.M. 174/040 to 176/400. (SH:- Cutti Nowked drains ,in K.M. 175/240 to 176/400)	ng of Grass	and bush	es, Prov.& ap	plying White washing	, Clearance
Description of item		Unit.	1	Rate	Amount
area			In figure	In words	
Clearing grass and removal of rubbish up to a distance of 50 metres outside the periphery of the Removal of earth from the choked hill side drain and disposing it on the valley side manually	5400	Per Sqm.	4.96	Rupees Four and Paise Ninety Six Only	
the choked nill side drain and disposing it on the valley side ways the	720	Per RMT	72.57	Rupees Seventy Two and Paise Fifty Seven	52250
Make:	1			I Carlos	
White washing with lime to give an even shade :Old work (one or more coats) on Parapets , Trees B/wall and V-shape drain etc. As per direction of Engineer-in-Charges.	670	Per Sqm.	26.88	Only  Rupees Twenty Six and Paise Eighty Eight Only	

_	SCHEDULE OF QUA	ANTITY				
	SSILESSEE SI QUI			Estimated For Cost: Earnest Money	KS:-	2000
Na	me of work :- R/R damages on Kalkahimla Wangtoo Road NH-05 k.m. 167/000 (	to 236/000 -	· (SH:- (	Time.	3 Month. drain between R.D.	. 177/000 to
1/9 Sr.	,					
Sr. No.	Description of item	Quantity	Unit.		Rate In words	Amount
Sr. No.	Description of its			In figure	Rate	<b>Amount</b> 98695
Sr. No.	Removal of earth from the choked hill side drain and disposing it on the valley side manually complete including all lead and lift or as per the dispetion of Engineer In	Quantity	Unit.	In figure	Rate In words Rupees Seventy Two and Paise Fift	<b>Amount</b> 98695

(Quoted Rates in words)(+/-)

-	SCHEDULE OF QU	ANTITY				
-				Estimated	Rs:-	98695
$\vdash$				Cost:		
1				Earnest	Rs:-	2000
-				Money		
Na	ame of work :- R/R damages on Kalkahimla Wangtoo Road NH-05 k.m. 167/000			Time.	3 Month.	1 20 40
181						
Sr.	Description of the	Quantity	Unit.	Γ	Rate	Amount
Sr. No.	Description of item	Quantity	Unit.	In figure		Amount
Sr. No. 1	Removal of earth from the choked hill side drain and disposing it on the valley side manually complete including all lead and lift or as per the direction of Engineer-In-	Quantity 1360	Unit. Per Rmt.	In figure 72.57	Rate	
Sr. No.	Removal of earth from the choked hill side drain and disposing it on the valley side manually complete including all lead and lift or so part to the valley side.		Per		Rate In words Rupees Seventy Two and Paise Fifty	98695
Sr. No. 1	Removal of earth from the choked hill side drain and disposing it on the valley side manually complete including all lead and lift or as per the direction of Engineer-In-	1360	Per Rmt.	72.57	Rate In words Rupees Seventy Two and Paise Fifty	Amount